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QUESTION 1. Read the following PASSAGE and answer ALL questions below: (A)

It is truism, and along history, science was not developed in a random way at an earl y stage of human
civilization. Today, with the development of technology, science becomes more useful for all people.
That is, science provides us with millions of instruments where cach one has numerous functions in
our life. Scientists make use of knowledge of mathematics, physics. chemistry, biology, statistics, etc.
to build their theories to be applied in multiple fields of life. OF course, still today. theories could not
address some problems occurring in universe; the fact that allows people to believe in the greal power
of God. The door gets closed in front of those who assume perfection all ihe time, If so. there are no
hidden problematic ideas in science available today. The best thing gained from science is
‘technology’ which opens, and closes, doors for many people to live happily. Lverything is available
at hand vanishing all physical borders of nations worldwide. One can attend classes in Michigan from
home in Yemen enjoying both time and place while studving, On this base, no one can deny the role
of technology, and science before that, in improving his/her life conditions from A 1o Z. To your
knowledge, one may find people complaining from science, and technology in particular, for its
capability in controlling their matters day and night creating problems for them. Such people are still
in need to appreciate (this) science for its capability in protecting others from such doings once they
use it.

Questions:

1. The suitable title for the passage is ~----—--——-
a) Problems of Science b) Development of Science
¢) History of Science d) Functions of Science
2, Scientists sometimes cannot apply theories. This means -—-———
a) scientists have a lack of knowledge. b) theories are wrongly established.
¢} theories will be applied later on. d) theories will remain inapplicable.

3. Based on the passage, all theories of medicine, for example, can be applied.
a) True. b) Wrong. ¢) Wrong to some extent. d) True to some extent.

4. Why does not ‘technology' make all people live happily?
a) Because they cannot use it. b) Because they use it.
¢) Because they misuse it. d) Mone of these,

5. What should those who get controlled through technology do?

a) Avoiding technology at all. b) Avoiding technology occasionally,

¢) Using technology to protect themselves. d} Using technology te do the same thing with them.
6. 'So'in line 7 is used to avoid repeating the idea of -——-meeeeeeee

a) people's assumption of perfection. b) application of all theories.

¢) hidden problematic ideas. d) application of some theories.

7. In fact, technology helps people with:

a) some of their needs. b) maost of their needs,
¢) al! their needs d) None o these,



QUESTION 2. CHOOSE the suitable meaning for the word given in the following:

8. Igloo:
a) a house made of blocks. b} a house made of cement blocks.
¢) ahouse made of snow blocks. d) a house made of mud blocks.
9, Mutiny:
a) obeying a leader's orders. b) refusing a leadet's orders.
¢) accepting a leader's orders reluctantly. d) accepting a leader’s orders happily.
10. Immunity:
a) resistance b) immunization
¢) exception d) protection
11. Pull up:
a) hale h) stop
c) leave d) sweep
QUESTION 3. Choose the correct alternative in the following:
12. Tomorrow, unlike her sister, she will appear as coeceeee. as a candle.
a) more beautiful b) most beautiful ¢) beautifully d) beautiful
13. - September 11, there was a great problem in my eity.
a)in b) on ¢) at d) of
14. For us, it is safe today to visit him, - !
a) don’t we? b) don’t they? ¢)isn’tit? d) doesn’t he?
15. Oh! Today, there are -———- customers available in my bookshop over there.
a) a few b) less c) the fewest d) few
16. My father said that I -———-——- — my teachers,
a) respected b) respect c) respecting d) have respecled
17. See! All instruments ---—---—- well by my son.
a) have been cleaned b) are being cleaned ¢} are cleaned d) were cleaned
18. He has not shared us his CV —oeemeeeeeees it is necessary.
a) but b} although ¢) because d) unless
19. Yesterday, I had causing me to difficultly hear anything.
a) backache b) stomachache ¢) earache d) sore throat
20. The one who works with water pipes is called ... -
a) a bellhop b) an electrician ¢) a plumber d) a vendor

UESTION 4. CHOOSE the underlined INCORRECT word/phrase in the followine:

21. What a beautiful city is it! Will vou share this view?

a b ¢ d
22, What are vou doing_in such yards is really what [ need.
a b ¢ d
23, It is still catastrophically to detain him from his work.
a b ¢ d
24, When I was 11, T use to help my father on farm.
a b ¢ i

25. By 2024, there are tow vaccinations given to 2-month babies.
a b ¢ d




